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SDI5 TRIPT T9OR2 K27 AR MR — 2N said: ‘here we are discussing
the case of a tree that is standing etc.

Overview

It is apparent that X07°2 M90IN in our X3 is as he quotes it in this M7
5 mnnn, and he is not 0713 as we are, X701 2770 90 XY ¥'"57 2"773, therefore
mooIn assumes that the X172 of w"2 1°1 A"Y 1 277 has no connection to the
177 of '&70m 27, and it is not discussing at all the concept of "7 2¥pn 3"y Aman,
but rather only if 172>y N2 1911 >7W can confer to the 711 the status of a *"7".

mooIn asks:

P13 1392% 7290 — The 2" has a question

anImY 79% N1 o7 — it would have been better to say as the X3 assumed
originally

"273 RTOM 27 K781 3172 %7957 — that 11271 °21 argue over s'87o1 2 ruling?,

and X7on 21 follows the opinion of %29, so at least X701 27 can point to someone
who agrees with him that '7 23pn 3°va R >3

»aR7 XMIwHT — because according to s'°aR answer the way he interprets the
npYonn between 7327 229

R7O77 2972 17N K2™w K97 — that their argument has no connection to

the ruling of 871 29, and their npYorn is (only) whether the trunk® confers upon the
branch the status of a "7

R7017 279 wpT 19w ¥ — there is certainly a difficulty with the position of
RTO1 29, who maintains that a '7 2p» is not required in a >"77.

RTOM 290 RYT (2w &, 1) P2 1P XNM2 XK K77 — for there is a Xn»m2
later on in »91177 P75 which states not like X791 29

RUTR B2 72 7121 7Y 0UKRD par2 TPR2 Y27 1320 395 7- the 3120 and »'"
argue in that X072 in the case where he threw an object higher that ten
0oV and it landed in a minuscule crevice

QYWD PPRIT JOMART QMWK 2997 PR 9397 — where 2''1 is 2977 since he
maintains the rule of ‘avw> Prrin

' 273 923 BY m3ns MM — and it is considered as if it rested on a °'7 23R

2w 2%om — and the 221 say that he 1s =B, since they do not say 1°ppIn
2°7wi° so therefore there was no '7 2pn 3"y 117

' Which is the entire thrust of s"*ax answer.

2 That "7 0pn 2"y 737 1Y &S "0

> Which may or may not be a '7 2Wp».

* This is according to 117 X 21 7»x *"A. In the actual Xn>»12 it merely states 2nn »" without any
explanation.

> This follows the interpretation of the *"7 in the previous w"»y ;727 7"7 2,7 "o
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"M T 2R VAT 1T 1T RMOR — we see, therefore that all (12271 ")

agree® that a '7 2% is required for a proper 737 in a "7, How can then 17
X701 maintain that a '7 21pn 2"¥ 7737 is not required in a >"77?

ND0IN answers:
R7O77 277 N2pwT A we X»wn — perhaps one can say that s'S7om 21
reason

"'71m2 ' 2R J9wa K97 - for not requiring a v"';m3 "7 2R A"V AN S —

A7 NO9MT INMS KDO2 J0WRT 2wn — because we maintain the principal
‘that a house is considered as if it is full of articles’’

"7 @Ipn 933 Yy mams 2w — and therefore it is considered as if it is resting
on a 't awyn

"7 5y '7 M2 RTOW J9v2 Hnsa bar — by a wall, however, we require that

the crevice should contain an area of ®0°mou 7"¥7, because X70m 21 agrees that a
"7 0P A"y Amaa is (always) required, and since the 1127 maintain that we do not say P10
0°%wn2, there is no "7 0pn, for the N5 is completely closed’, therefore he is Mvo.

Summary
In the NM®0IN R°Wp assumes that X707 27 maintains that in a *"77 a A"y amn

'7 0Ipn is not required. The ¥n*>12 of W"2 72 7MY 7O9M seems to indicate
that everyone maintains that even °"772 a "7 21pn A"V Omn i1s required.
According to »2X who maintains that the Xn>92 of "> 7 is not involved
with "7 @pn A"V 7n17, then X701 27 has no one to support his view. It would
be better to say that 13271 °27 are not arguing about 1911 *7¥ but rather whether
a '7 @pn A"y amn is required. That way X701 27 would at least have 27 to
support his view.

MooIn answers that X701 17 agrees that in a °"77 a '7 011 1s required. It is
just that a regular "7 automatically has a '7 2171 (almost) everywhere since
M7 XO9NT IXMI XN2. Only in the case of w"> 7 do the 1327 say that there is no
"7 0Wpn, since the wall is all closed up, and we do not maintain 2°2Wn% PpPPIN.

Thinking it over
1. Why would not m0In agree to learn like the XX X1w°H in >"w9?

® It is just that »"2 maintains that since 22w PPN so there is a '7 DP» 2"y 7M.

7 mooin is using the concept of %7 X7 1¥MD XM*2 even where it is not a 7P >, as is the case of 17
X70M, where the 173p was 72K P maa.

8 Moo here is following (somewhat) in the view of 12°X2 71"7 2,7 NDoIN, that X701 21 requires a A"y 7nIn
(2"712) "7 0pn, not like the X"2w in that MmdoIN.

? It seems that "n7 X™n7 1815 &n°2 accomplishes that an article at rest (anywhere) in a *"777 is considered as if
it is resting on a '7 0pn (even though it is ¥*p7% 7¥ R°917 1813, which would make it X°917 1813 even above
and around the article at rest), however when it rests in a 2m>2w 71 which is 01X (actually closed up), then
there is no "7 DpnA.
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2. How may one attempt to refute nvow proof from w"> 772 1M1 (two
ways)?

3. According to X1pon nMdoIN, who does X701 27 agree with?

4. According to Xipon n1woin, what did »2aR accomplish by saying that the
nponn is whether we say 17y 202 191 >TW?



